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QUESTION 1

U+ Bank recently introduced a new credit card offer, Platinum Plus, for its premium customers. As the bank has some
financial targets to meet, the business has decided to boost the Platinum plus card. As a decisioning consultant, how
can you ensure that the Platinum Plus offer is prioritized over other offers?

A. Increase the starting propensity of the Platinum Plus card.

B. Increase the context weight of the Platinum Plus card.

C. Increase the action value of the Platinum Plus card.

D. Increase the business weight of the Platinum Plus card.

Correct Answer: B

QUESTION 2

U+ Bank, a retail bank, wants to show home loan offers to customers who log in to their website. U+ Bank decides to
use the Pega Customer Decision HubTM. What information does the U+ Bank website receive in response to the real-
time container request by Customer Decision Hub?

A. Only the action name and description

B. Only relevant action details and its treatment details

C. Only the image location

D. Only the image location and its placement type

Correct Answer: B

QUESTION 3

MyCo, a mobile company, uses Pega Customer Decision HubTM to display offers to customers on its website. The
company wants to present more relevant offers to customers based on customer behavior. The following diagram is the
action hierarchy in the Next- Best-Action Designer.
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The company wants to present offers from both the groups and arbitrate across the two groups to select the best offer
based on customer behavior. As a decisioning consultant, what must you do to present offers from the two groups?

A. Enable an engagement policy for the second group.

B. Set contact limits for both the groups.

C. Map a real-time container to the Top-level or Issue-level.
D. Create a decision strategy at the Issue-level.

Correct Answer: D

QUESTION 4

U+ Bank, a retail bank, follows all engagement policy best practices to present credit card offers on their website. The
bank has introduced a new credit card offer, the Rewards card. Anna, an existing customer, currently holds a higher
value card. Premier Rewards, and does not see the new Rewards card offer.

What condition possibly prevents Anna from seeing the new Rewards card offer?

A. Applicability

B. Suppression rules

C. Suitability

D. Eligibility

Correct Answer: C

QUESTION 5

U+ Bank, a retail bank, presents various credit card offers to its customers on its website. The bank uses artificial
intelligence (Al) to prioritize the offers based on customer behavior. Since introducing the Gold credit card offer, the offer
click through rate propensity has increased to 0.83.

What does the increase in the propensity value most likely indicate?

A. Similar customers have ignored the offer.

B. Similar customers have shown interest in the offer.

C. Similar customers have rejected the offer.

D. Similar customers have purchased other offers.

Correct Answer: D

Latest PEGAPCDC85V1 PEGAPCDCS85V1 VCE PEGAPCDCS85V1 Study
Dumps Dumps Guide

Latest PEGAPCDC85V1 Dumps | PEGAPCDC85V1 VCE Dumps | PEGAPCDC85V1 Study Guide 3/3


https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
https://www.pass4itsure.com/pegapcdc85v1.html
http://www.tcpdf.org

